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Instructions for Marking Answers| -
: Full Mark - 100

Time - 2 Hrs.

This computerized OMR Answer Sheet is to be filled in by BLACK'INK / BLUE BALL - POINT

PEN only.

N2 @Y69199 OMRa @eq a9ga 9ed QAR @Rl / 1R Q15 2o ERUNG 6dR LR

@03 | : '

$i1tce answers and other particulars are to be filled in with Black / Blue Ink Ball-Point Per!f there

1SN0 provision for change of answers by eraser / blade / white fluid etc. Therefore, all particulars

including answers are to be filled in VERY CAREFULLY, Kindly note that the OMR Answer

Sheet will not be replaced under any circumstances. ‘ ! o

6UE2Q QR I9° UM FAE ARIFIR FIRAQ FRANG 697, MIEAR AR YSl AR, 66
y 64

QQR / 698 / URIET ALINMER ANIRIA MY KR | 604 AR 8 7Y FAREN ULYS U
d2QI6Q gad Qaq | QaIed Ue dug, casMlad 08desa OMR RRAAER oR FIde

QL |
Darken onlyonly one circle for Answer of each question as shown in the example given below.
Marking should be dark and the circle is to be filled in completely as shown in the example.

GF QQIPRd6Q QHIFINAQI OF J60YR d¥a Qee IR 6XeR 66IcN @ iR @Rl @aQ |
QQILE6Q QHITINAR! OF Jal 6FINER dIF @Rl / VIR aF @Q §g *Idel @e |

There is only one correct response for each question. More than one response to a single question
shall be treated as negative response. For each negative marking 0.25 marks shall be deducted
from your total marks. : .

g6eYe ggale ceIfd FRa 0aa 28 | A7 60N AGa g¢e Qe AR RIS 6FINY Qe

QaIdIRgN, 6069 0121 QR A0R NES AR FAIKE | G6PYR QR Q8x AR ©.98 A

@c1de |
Mark your answer only in the space

answer sheet. L
caop Q2R a6t @

Gag @@ | ' :
Rough work should not be done on this OMR Answer sheet. Use rough sheets provided at the

end of the question booklet, for rou gl'::mrk. N
OMR Q86 9ae/6a QT @If] @ag @12 | QT @il diel g¢ YEQIa d8deea QI o gIe / QIR

provided. Please do not mark any other thing on the OMR

Gpa. e 640 @03 | @ g3qia 6aldd gIN6a 2QIQaNe &9

ege @ag |
Do not fold Answer Sheet. Carbon copy of OMR answer sheet can be taken away by the candidate.

OMR @@e 98eIg AIF @ag AR | 288 43R QIGR @F gigh 6Aq! ZIeaR |

Please read the following instructions carefully
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Write your Roll Number, Question Booklet Number and Question Booklet Series on the OMR
Answer Sheet carefully and sign at the appropriate p.lace. Please note that in absence of the
correct Roll Number, Question Booklet Number, Question Booklet Series and Signature on the
OMR Answer Sheet, your Answer Sheet will be treated as invalid and will not be evaluated.

structions given by the Centre Superintendent / Centre
on the Question Booklet. Observer / Room

a

Strictly follow the instr :
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rance Test Questions & Answers:- 2017
SECTION-I
What comes next : 9, 15, 23, 33? 1. elden @@ ade : 9, 15, 23, 33?
(a) 44 (b) 36 (a) 44 (b) 36
(c) 38 (d) 45  (c) 38 (d) 45 V7
49,36,25,16,9 —. R o ¢ R
(a) 28 (b) 2 (c) 8 d 4
(c) 8 (d) 4 3. QRO QYIS 6EIF QPR 9@9
Find the odd man out : - (a) Qlal (b) quen ’
(a) Father (b) Mother (c) Q& d) g «
(c) Sister (d) Mother-in-law 4 eI ggg_ﬁ QRR 6K69Q Q(l‘_ﬁl{/GQ@ﬁ :
LIGHT is BRIGHT as SUN is : (a)' oR (b) Ged
(d) Moon . (b) Day (c) el d) |98 v
) Bamt™ ) Slugs 5. 7@ 7Q 6016 96R, TAITR 699 :
When -7 is subtracted from -7, result is: (a) 7 (b) 14
(a) 7 (b) 14 ~(c) 0 (d) 24
(c) 0 (d) 24 6. 6aled 58e A6we6a SPIDER @ 9§

If SPIDER is written as PSDIRE in a
certain code. How would COMMON be
written in that code?

(a) OCMMON (b) OCMOMN

(c) OCMMNO (d) OCOMMO
The lady sitting in the sun is my brother’s
mother’s daughter. I have one brother
and one sister. What is that lady to me?
(a) Mother (b) Sister-in-law
(c) Sister (d) Daughter
How many Q’s are preceded by R and
followed by P in the following series :

ASRQPQRQNRQPRQPQR
(a) 3 (b) 1
() 2 (d) 6

Raju’s rank is 18® in a class of 50. What
is his rank from the last?

(a) 32 (b) 33+

(c) 31¢ (d) 30*

Seven years ago Pinku was three years

older than Tinku. What is difference in
their ages now?

(a) 5years
(c) 3years

(b) 7 years
(d) 1year

AN

PSDIRE ®I6Q@ 6@¢IdIN 6069 698
ASE6Q COMMON @ 6a66 eeIde ?
(@ OCMMON  (b) OCMOMN
“{c) OCMMNO  (d) OCOMMO
7. . doeq QdgQl €26 691 QIee qIRIe §21|
671 €0ITNY QIR 99" 6QITN QaaN| 620
g2 Q9 6710 AR @'Q?

(a) €l (b) LU
“(c) Q@ @) €&
>78. GUIGES! IER R T6R <@ P 999
6agoIc Q@88 ;. .
ASRQPQRQNRQPRQPQR
(a) 3' * )1
o (©) 2 (d) 6

9. 50 w6l ﬁ'l@ﬁ‘l@'l dQl 4R 694160 QIR gIe
. G@Qﬁ‘ 18 9711 698 AR 98 @6n @'Q

| gIR 6966 6297
(a) 32641 “(b) 3366
() 316¢ d) 3099

10. Qe ed Q_QQ ag QoI GF od @¢ 2l |
QRAIR 6Q7IRT Q0Q AUeq elqem

6R60 ?
(a) 54 () 78
¥ (c) 304 d 1ed
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D.ELEd. (CT) PREVIOUS YEAR QUESTIONS & ANSWERS

A-3

Directions from 11 to 15 questions : Read the

following passage and choose the best answer

to each question out of the four alternatives :

Mahatma Gandhi believed that
industrialization was no answer to the
problems that plague the mass of India’s poor
and that villagers should be taught to be self-
sufficient in food, weave their own cloth from
cotton*and eschew the glittering prizes that
the twentieth century so temptingly offers.
Such an idyllic and rural paradise did not
appear to those who inherited the reins of
political power.

11. Which one of the following best
illustrates the relationship between the
phrases :

(i) “eschew the glittering prizes’ and

(ii) “idyllic and rural paradise’?

(a) unless you do (i), you cannot
have(ii) .

(b) (i) and (ii) are identical in meaning

(c) firstof all you must have (ii) in order
to do (i)

(d) the meaning of (i) is directly opposite
to (ii)
12. Mahatma Gandhi’s views opposed
industrialization of villages because :
(a) it would help the poor and not the
rich

(b) it would take away the skill of the
villagers. :

(c) it would affect the culture of the
Indians

(d) it would undermine self-sufficiency
and-destroy the beauty of life of the
villager

13. The meaning of ‘the glittering prizes that
the twentieth century so temptingly
offers’ is :

(a) pursuitof acommercialized material
culture

(b) replacement of rural by urban

interests

(c) complete removal of poverty
(d) absence of violence and corruption
14. Mahatma Gandhi’s dream of ‘an idyllic

and rural paradise’ was not shared by :

(a) those who did not believe in the
industrialization of the country.

(b) those who called him the Father of
the Nation.

(c) those who inherited political power
after independence

(d) those who believed that villages
should be self-sufficient in food and
cloth.

15. Thebasis of ‘an idyllic and rural paradise’
is :

(a) rapid industrialization of villages

(b) self-sufficiency in food and clothes
simplicity of the life style

(c) bringing to the villages the gilttering
prizes of the twentieth century.

(d) supporting those holding powerful

political positions.

CHOOSE THE CORRECT SPELLINGS
FROM THE FOLLOWING :
16. (a) maintenance (b) maintainance
(c) maintainence (d) " maintanence
17. (a) commisioner (b) comissioner
(c) commissioner (d) commissionor
COMPLETE THE FOLLOWING PROVERBS:
18. Blood is thicker than —

(a) wind (b) glass

(c) paper (d) water
19. No news —

(a) makes no newspaper

(b) is good news

(c) nothing new

(d) no danger

20. It is making — longer than I expected.
(b) quite
(d) some

(a) more -
(c) rather

)
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21.

24,

)

26.

27.

28.

The term Dyslexia covers a wide range
of :
(a) reading disabilities
(b) hearing disabilities
(c) mental disorders
(d) emotional disorders
The scheme of Sarva Shiksha Abhiyan
(SSA) was launched in the year :
(a) 2001 (b) 2005
(c) 2007 (d) 2003
Headquarters of NAAC are located in :
(a) New Delhi (b) Bangalore
(c) Varanasi (d) Bhubaneswar
A teacherissaid tobe a:
(a) friend (b) philosopher
(c) guide (d) all of the above
How can students be encouraged to do
homework?
(a) by giving them more homework
(b) by urging them to do homework

(c) by telling them the importance of
doing homework.

(d) by giving homework according to
their ability

Teaching does not help in :

(a) making social relations

(b) developing international relations

(c) gaining knowledge

(d) inculcating values

If a child is not interested in learning he

should be : é

(a) turned out

(b) totally ignored -

(¢) punished.

(d) given individual attention

Education_as per Constitution of India

finds the entry in :

(a) Concurrent list

(b) State list

{c) Centre list

(d) None of these

21.

24,

25.

26.

27.

28.

Dyslexia 8@ — @ @ QYI99 28 Qoo
@6a |

(a) DORGS VMG

(b) 9€60 VMG

(0) AIede Sguel

(d) RYAEICITE Ageral

Qe J8 URAQ 62199 6069 Zlaa

QRUARARI ? .

(a) 2001 (b) 2005

(c) 2007 (d) 2003

NAAC @ g#i QIR 6980I6e 29ge ?
(a) QERR (b)) QFEAIR

(c) QARSI (d) Qeeege
QLI 968 30 — 6291 abe ?

(a) @9 . (b) QEFe

(c) Qeede (d) afge Are

646116Q GUAIRAR! A0 AR FAR QG

QERIRG, F98 QL FAILIRTIRS ?

(a) 6QNG 2@ QO R ¥ Al
dude '

(b) Q6Q QIO 6RYS TR AYERNI KGR

(c) B6Q QIO 6RAYAIR F1Eq QEIARIQ 689

(d) 6WIRTR GG 69 €O 6991 629

FUIRIR 6RO AN FEARIR ?

(a) WIRQ W TR ebva

(b) 2USRIFR AWF 9F QhQlka

(©) |19 2Les FRIca

(d) JRUEIRI 28R6QE @GQIeR

A9 966 &4 QI0 APUQ YL QEL 666Q

oIR @'8 KRl A0 ?

(a) QLI FREARN Qe

(b) 24 @6ERI AGQl 856

(c) Q@6al 9FQ

(d) 909 98 609l @6e

Qeea e Q6N §81 610160

QNGO : ~

(a) NAACVER FORE CIme

(b) Q6QE GG

(c) 692 S

(d) 6@ Q6L
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D.ELEd. (CT) PREVIOUS YEAR QUESTIONS & ANSWERS A-5

29,

30.

31.

32.

a3.

34.

35,

36.

37,

Which one of the following is not an
Audio-Visual Aid?

(a) Motion picture

(b) Model of the- Taj

(c) Television

(d) Educational films

A good teacher will gear his teaching :

(a) to the psychological needs of
children

(b) to the examination needs of children
(c) to the needs of the toppers

(d) to the needs of average children
Which is the world’s smallest country?
(a)- Indonesia (b) Srilanka

(c) Trinidad (d) Vatican City
The ratio of the width of the national
flag of India to its length is :

{a). 2-3 ). 1.:3

ey~ 1:4 (dy 2:5

Bharatiya Jnanpith award is given for :
(a) contribution to scientific research
(b) research in Ayurvedic medicine

(c) contribution to the cause on Indian

cinema
(d) contribution to creative literature
R.K.Laxman of India is a well known :
(a) Cartoonist
(b) Novelist
(c) Painter -
(d) Bird watcher and specialist of bird
life
The Human Rights Day is observed on :

 (a) 14" Oct. (b) 2 Nov.
(c) 10* Dec. (d) 20™ Dec.
‘Titan’ is a name of moon related to
planet : _
(a) Neptune (b) Mars
(c) Pluto (d) Saturn

Who is political Guru of Mahatma
Gandhi?

(a) Dada Bhai Naroji

(b) Rabindra Nath Tagore

(c) A.O.Hume

(d) G.K.Gokhale

29,

30.

a1,

I

33.

34.

35.

36.

‘37,

AONYe G 60AE 9496-9d9 6N
QURRE Q6L ?
(a) 003 88

(b) ClRFIeRA 90ge

(0 9o

(d) 49 80Q oRde

F66 AN J9R Gl JTINIRY 019 FAQ :

(a) MRS AIRAR CMROIQ O

(b) SMEINT CRIFIR 2SRRI OF

(0 a19gIe 2RIa @qaQl Foudie
2QENROIQ I8 3,

(d) RO AdR AU QNSO SR

Q21918 9Q0IQ RO 624R QN @' ?

(a) R6gI6R3A  (b) 9IRS

(c) PRQIQ (d) ecee a6

RUROIB RO JOIRIA AR 6 AAA ALAIQ

6966 ?

(a) 2:3 (b) 1:3

(c) 1:4 d) 2:5

QIRE1A RIRUIO0 YRR 6QQ2AARN FNAN ?

(a) 6ARWAS CERACIER AR AR

(b) 2YER AVUER TV QIR

(c) QUREIY IRF FE0Q UM AR

(d) EREIR AN PUEY 2R Al

2UR.6R.AFE NIRCER QAR FSIE 7

(a) QTR Seea

~ (b) Gaqude

(c) 9Qee

(d) 981 91eQ JeaeR |
ARARIFIR GQAT 6R6Q ARG 6LIRAIN ?
(a) 14 eQR (b) 2 FERAR

(c) 10 @6Qne (d) 20 @6QnQ
CIRCR 6298 69T o (REFL)Q AN
e — ge Qo Fo :

(a) 699Q%. (b) aSrQ

(c) gse! (d) a&

21l NS QINETOR Qe @4 ?

(a) QI AUR RSN

(b) 0@l 0IQe

(c) 9.6.94¢

(d) 69ITIRGE 6QNISER
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38.

39.

41.

42.

43.

45.

46.

47.

In which year man set foot on the moon?
(a) 1961 (b) 1969

(c) 1965 (d) 1971

‘Santosh Trophy’ is related to :

(a) National Billiards Championship
(b) National Football Championship

(c) Junior National Kabaddi
Championship

(d) National Women'’s Hockey
Championship

In which country the ‘Great wall’ is
located?

(a) Ru_ssia
(c) China

(b) Korea
(d) Argentina

38. 60Q 9F &8 C06q Qe afm ?
(a) 1961 (b) 1969
(c) 1965 d) 1971
39. Q6819 §F 60Q 6dp A A ?
C (a) Q010 RIS oFoedq
(b) RIe1G TR ofardq
(c) S0 *0Y Q9@ eHaadyq
(d) P01 ARR 2 oRaedq
40. 6QQ 6Q96Q J4IR QPR 2NTE ?
(a) Q82 (b) €I
(c) R d) 2CLIR)

SECTION-II

Side of a square increased by 10%, find
the increase in area.

(a) 20% (b) 10%
(c) 21% (d) 30%
Find the HCF of 10, 15, 20.
(a) 10 (b) 60
(€ 1 d) 5

Find the value of x in equation :
2x +5=0,

(a) 2.5 (b) 2

(c) -2.5 (d) 0

40% students passed in mathematics,
30% passed in the English, 10% passed
in the both subjects, find the students
to failed in the both subjects.

(a) 40% (b) 20%
(c) 30% (d) 25%
Find the sum 1+2+3+.....+100.
(a) 5000 (b) 10000
(c) 5050 (d) 6000
Country with least population is :
(a) India (b) China
(c) America (d) Canada
Gift of Nile is :

(a) Israel (b) Egypt
(c) Iraq (d) Iran

41. 661G QC6BER 661G AIg € 0% 9 afq,
B'a 6URTRER 6760 UNQE QAGMI?

(a) 20% (b) 10%
(©) 21% (d) 30%
42. 10, 15,20 @ HCF Q0IQ @4l
(a) 10 (b) 60
(© 1 d) 5
43. 2x+5=0ANIREER x @ Y QLI FQ|
(a) 2.5 (b) 2
(c) -2.5 @ o

\ 44.] 40% QUi 9&§e6a AIQ Q6R, 30%
QARIER A FER, 10% A0S FEAER
did Q6R, A0 FACR €TA 6212
QI M QRIR Qa

(a) 40% (b) 20%

(c) 30% (d) 25%
@,1+2+3+_.....¢100 Q And 66 Q2R
‘el

(a) 5000 (b) 10000
o (c) 5050 (d) 6000
46. AOGQ PR 2 694 6268 :
(a) NG (b) @19
(c) EAaR (d) QIRIe
47. QPR AR 6R€E ?
(a) QNP (b) Fea
(c) AQIR (d) QQIf
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49,

50.

51.

52.

53.

56.

EQUINOX means -
(a) days are longer than nights
(b) days and nights are equal

(c) days are shorter than nights
(d) none of these

Spring tides occur twice a month at :
(@) new moon or fyl moon

(b) first quarter and new moon

() full moon and the 1ast quarter

(d) the first and the last quarters of the
moon

Of the total area of the earth’s surface
water occupies about — of it

(a) 50% (b) 60%

(©) 70% (d) 80%

Present population is 10,000. It increases

by 10% during the 1¢ year and decreases
10% during 2nd year. Find the

population after 2 years?
(a) 2000 (b) 12200
(c) 12100 (d) 9900

A shopkeeper marks his goods 12%
higher than its original price then allows
12% discount. Find its profit or loss
percentage?

(a) 1.44% loss

(b) 1.44% profit

(c) no profit no loss

(d) 1% loss

Ram’s salary is increased from Rs. 630 to
Rs. 700. Find the percentage increase in
his salary?

(a) 10% (b) 12%

(c) 11.11% (d) 20%

An amount of money double itself in 10
years. What is the rate of interest?

(a) 10% p.a (b) 20% p.a.

(c) 5% p.a. (d) 15% p.a.

An amount of Rs.800 becomés Rs. 920 in
3 years at simple interest. If rate of
interest is increased by 3% then what
will be the amount?
(a) 952

(c) 972

(b) 992
(d) 900

48.

49.

50.

v () 70%

al.

52,

83

54.

55.

(a) 10% 9699

Q13916 (EQUINOX) @ 2 6208 ?

(a) QP 2608l G Q@

(b) A9 6 QIS AL

() Yegee QiBoIy 681¢

(d) 66dG Qe

IR QR2Q Q2R Bl 29 6IEPERER :
(a) EAIQIQY 9Q° QI 6Q6R

(b) GR08Q RS IQ° AAIQIAY 6Q6H
() 9991 ¥e° Q8aa aséie

(d) 4908 99° QEU8Q Z6Re ANIER
QUAR AAY IR ULFIRTD 6260 Rl

o0 Q88 ? ‘ '

(a) 50% (b) 60%

(d) 80%

QIR PRSI 6208 10,000 92! gae

od 10% Qfad 9e° §o1a oF 10% oid
AN | 2 9F 96Q Y9IR FRAWI 6960 €09
ARIed eal

(a) 2000 (b) 12200

(c) -12100 (d) 9900

Red sQRIM Ge G08 @usa gf QAR
12% 2@ gy SIRe 9 12% @I gaie
[6Q | IR AN 9Q° ITQ 90! Qleln
Qal '

(a) 1.44% 96 (b) 1.44% QI

© QAR N (d) 1% 99
BIFRIQE Al 630 FIQ 700 eIg Q&
dianl| 2aela 6960 gdee BRQE adel
QPR @A |

(a) 10% (b) 12%

(© 11.11% (d) 20%

6AIN AGa deve ol 10 ofea Ticg
disd R824 CIRie I 2In ©’ ?
(b) 20% Q6QE -
(€) 5% g96ed (d) 15% goes
800 6% 3 Q6 IR ARIRE QER ASFE
6218 920 eFI6a afae 241 96 elelR

RIRIA 3% AGQR A66, 6060 TTIa CRAIE
6Q60 699 ?

(a) 952
(c) 972

(b) 992
(d) 900
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A-8
56. In what time will rupees 1000 becomes 56. QI8Q 3% Q98 QI 2NER A6 A
Rs. 1301 at 10% rate 2. Compound PRIER 1000 1 1331 SFI6Q TRES 629 7
interest. (a) 3 o8 (b) 4 od
(a) 3 years (b) 4 years (© 2 o8 () 10 oS
&) Zyeam (6): A0 yeos 57. Q& QG PRIEA 2QAIC 6268 3:4 Yo
57. The ratio of two numbers is 3:4 and their caqiee L.C.M 62Q8 180, 6069 gaie
L.CM is 180, the 1% number is? N 660 7
(a) 45 (b) 30 (a) 45 (b) 30
(c) 60 (d) 15 (c) 60 (d) 15
58. The ratio of radius of two circles is 3 : 4 58. Q@6 9@ AFQ 2R €908 3:4
then what is ratio of their areas? 6069 627IRE 6809 ARG @67
(a) 16:9 (b) 9:16 (@) 16:9 (b) 9:16
() 3:4 (d) 1:2 (c) 3:4 (d) 1:2
59. In an election one candidate got 40 59. 6QIE9 foI0n6ea @66l giéﬁ 40% 69
pevocnt votes sind defpated by 13K voles glaml 49° 1500 69T 6QICER QQIRE
i soleg of syivegr 05 coql. 6060 B6ROIR ERICL M 6960 7
2. A0 L (a) 3000 (b) 5000
() A (), 6000 (c) 4500 (d) 6000
60. What is the sum of three angles of a 66. colE Gea 68 cRIER Q08 6o ?
triangle? (@) 120° (b) 150°
(a) 120° (b) 150° () 100° (d) 180°"
(Q. 1007 bl 28 61. QQEY 6000 694 qEq “IPKd @R’
61. Which gland of human body is called cQA QeIaNg ?
AsmmipApple:t - (a) QGEGIG‘I@ (b) 26RRIR
(). Eituitary ) Aplren] ©) 2Ieade (d) 69T
(c) Thyroid (d)pEsidocmne 62. €IGYR 20N GGG 6RE0ER 2URA 297
62. Digestion of food starts in the : (a) Qi (b) 949 '
(a) Mouth (b) Liver () ARG (d) 281
(c) Stomach (d) Intestines 63. EEG @Il 98¢ aag ?
63. EEG is related to : (a) 91899 (b) g08e
(a) Brain (b) Heart (c) ay (d) Q@8
(c) Eyes (d) Kidneys 64. QOEYAR (catalyst) :
64.  Catalyst : (a) QAAGe gORVIQ IR Q6Q
(a) Stops the reaction (b) 6% QAAARR YTFAER UELe]
(b) Itself take part in a chemical reaction @EQ
(c) Affects the rate of reaction (c) gegaIR ﬂl_@l.ﬁl deIfe @6
(d) None of these (d) e@ERT 6L ¥
65. BCG is used to prevent : 65. BCG @ Q1Q2i0 8’6 geia e @aldn 7

(a) Hydrophobia
(c) Neuralgia

(b) Cancer
(d) Tuberculosis

(b) &€
(d) <]

(a) PO
(c) 9I99%
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66.

67.

68.

69.

70.

7L

72,

73

74.

.(¢) Manipur

Who is regarded as the Archiicii,Tather
of the Indian Constitution?

(a) B.R.Ambedkar

(b) Jawaharlal Nehru

(c¢) Rajendra Prasad

(d) C.Rajagopalachari

The Constitution of India is :

(@) Unitary (b) Confederal

(c) Federal with a strong centralizing
tendency

(d) None of these

Which of the following has a
constitution of its own?

(a) Tamil Nadu (b) Sikkim

(d) Jammu and Kashmir

The state of emergency can be proclaimed

by : '

(a) The President

(b) The Prime Minister

(c) The Speaker of Lok Sabha

(d) Ministry of Home Affairs

The President can promulgate ordinances

only when the :

(a) Prime Minister asks him to do so

(b) Council of Ministers wants him to
do so

(c) Parliament is not in session

(d) Parliament empowers him for it
during a particular session

The ancient name of the city of Patna is:

(a) Kausambi (b) Patliputra

(c) Kanauj (d) Kapilvastu
The Battle of Plassey took place in the
year :

(a) 1757 (b) 1772

(c) 1864 (d) 1870

The Nalanda University was in the
present Indian state of :

(a) Odisha (b) Bihar

(c) West Bengal  (d) Uttar Pradesh
Who was the first British Governor-
General of India?

(a) Lord Minto

(b) Lord Cornwallis

(c) William Bentinck

(d) Warren Hastings

66.

67.

68.

69.

70.

71

72.

73.

74.

QIR QIRIE AR TOH RN | R

Qe QAR QAN ?

(a) 9.210.2162000

(b) SLAAIN 6RELY

(c) QePQ galQ

d) d.QREaaRIR!

NG AR 6208 :

ORLL (b) QUBL°QR

(c) FRIQIA 9Q° Q% 99f

(d) 6636 Q6L

FOINYE 69Q0 ARY AL QRS ?

(a) QIFRRIQ (b) AAQ

(©) f8ge () e

FRARIRIe 9Gds aer QRIS RIE

ARIINAIER ? |

(a) QUG (b) QuIRAR!

(c) CARANQ ASIS

(d) QeMIIR REIRE

QLOF ZRNIERE CRTEI 6P 6I606RER

RACIRAER 6AEOEER :

(a) QUNART OIF 620Q FARIQ QLR

(b) RO QI 690R KGRI @69

(c) °AER 6UCPERER  AYEXER
QIReaQ

(d) FG8 AYERIR QINER qTle LAQ
QIg FAGI 9UIR K9

dIcRl AWLRQ YR QN @@ ?

(a) €alEn (b) QleRYL

(c) Q6Re (d) *daIg

anIQ! g8 6ra Adelse g coIRamI ?

(a) 1757 (b) 1772

(c) 1864 (d) 1870

QAR FQFMIRE ARGS WRGa 696
QUNIEQ 2R ?

(a) 6@4l (b) @2IQ

(c) Q8aQe (d) 2eQgeas

RI6oa gae 954 anda eReaaIn @
26m ?

(a) Ao fegl
(c) GRen code

(b) A¢ @dgnd
(d) geas 62369



sujit9876789@gmail.com
Techofworld.In


—

A-10

Techofworld.In

D.ELEd. (CT) PREVIOUS YEAR QUESTIONS & ANSWERS

76.

77.

78.

9.

. 80.

81."

82.

83.

84.

85.

Who founded Indian National Congress?
(a) Surendra Nath Banerjee
(b) Dadabhai Naorojee
(c) CR.Das
(d) A.O.Hume
Acid rain is caused by :
(a) Excess production of coal gas
(b) Excess release of CO, due to
increasing combustion and
respiration
(c) Excess release of SO, and NO, from
burning fossil fuels
(d) Excess production of gaseous
hydrocarbons
Which is not the unit of distance?
(a) Kilometer (b) Centimeter
(c) Kilometer/hour (d) Light year
Which of the non-metal is found in

liquid state?
(a) Oxygen (b) Nitrogen
(c) Helium (d) Bromine

The unit of intensity of noise is :
(a) Decibel (b) Decimal
(c) Debey (d) Dioptre
Deficiency of Vitamin-A causes :
(a) Rickets
(b) Beri-Beri
(c) Night-blindness
(d) Polic
The deficiency of which constituent in
our food causes goiter?
(a) Iodine (b) Vitamin C
(c) Vitamin A (d) Sodium
Which of the following is not a metal?

(a) Ferrous (b) Copper

(c) Steal (d) Mercury
Which is the universal donor blood
group?

(a) A (b) B

(c) O(-ve) (d) AB

Which of the following disease caused
by virus?

(a) Cancer (b) Cholera

(c) TB (d) Smallpox
Which is the unit of weight?

(a) Kilogram (b) Ampere

(c) Gram (d) Newton

75.

76.

77.

78

79,

80.

81.

82.

83.

84.

85.

RIREID RIIR @°69K @9 gaAl aGeEn ?

(a) LeoRNIE QAR

(b) QRINQ FEART

(c) 4.2IQ.QIQ

Qe ofl eRe 2497

(a) 6QIRAI MY AIRI AE RER

(b) Q2F.e° qIAGA IRER CO, Q AR
Qde e26m

(c) APRQ @eegIal SO, ¥e° NO,a
Zowe G 626R

(d) S LRCRIRISAN 2GR HTT QR

6RA0 QR0 YAa R62 ?

(d) 9.6.249

(a) @EAIASR (b) 698ficR
) @.6.a8l d) 26Reed
FORYO 698 AERIQ CR ke FER ?
(a) 2RIL (b) AFIRRIR
(©) daan d) 6Q1fie

0 Q1IP0I I9e 6228 ?

(a) 6edom (b) 624aIR

(c) @eia (d) Q9ge
QoIfe 1 2NIQ 626R @& 297

(a) G6@6Q (b) 6QQACR
(c) 2RIREI (d) 6QIRG

2l IR @’ UND 626 TRTE 6QIG
297?

(a) AR, (b) §ede C
(c) GoFe A (d) eQdaq
FORYS RIQ 609T Y Q6L 7

(a) 6909 (b) @9l

(c) Qe (d) Qe
6900 6208 ARRNR ARVCIT ga?
(a) A (b) B

(c) O(-ve) (d) AB
AURYE 6PR 6QIT YOIYRTE 7

(a) 6999Q (b) SRS

(c) G.9. d) Qgeda
69Q0 6208 BRRR Iaa ?

(a) @emigiel (b) AR

(c) @If (d) Feee
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86.

87.

88.

89.

90.

91.

92._

93.

94.

6GU QU NP YF LW 6960 ?

(a) 49 (b) 31
(c) 50 (d) 53
QORYLS P 1IQ 6QAE 6] B Qe ?
(a) ® (b) 1.
(c) @ (d) @

6RR6Qa Iae Y& Adsn ‘@ Qeys
297

(a) @ +8 (b) &+ 8
(c) |+8 d) B+
6RA0 @ AR Q67
(a) 9 (b) 9
(c) 6 d) «

6QIde a1 SR1Re! A 938 | @ QNER
FRUL0! 6208 19 :

(a) QORIA

(b) S6686

(c) 2MND

(d) GeRiee 68 &

6Pl68 0@ @ QN AP YAl MIYS
24 0leIR @'6 Q23 ?

(a) AR (b) Seay.
(c) Q6934 (d) 29Ya

2100, 9F, 208 AeYF 699 S0 9689 7
(a) QIR (b) 3%

(c) QI (d) eaIga

gals dea URIe 90 @6 ?

(a) @9

(b) G618 g

(c) Q124

(d) 96918 -

‘91008 6291'q QE6a @'8 AN ?
(a) GINER DIO 69

(b) SHIRIEER FAITIQ KRG
() 8l @ AIeal

d) 9ia 9P6R AR 60aQ!

95:

96.

97

98.

29,

100.

‘00 RIS g2 8 8RR QEQ Bd @9 ?
(a) G98 g Qe

(b) 661G QAal
(0) 26d e« gl

(d) 2Na R1ee gFel

‘@10Q° 908 IR Qa6 O ?

(a) & + Q@ '

(b) 6@ + Q@

(c) @8+ QQ

(d) 91+ @@

d00RIR 2RI 6 2Riea e 92 Sl
dipml | 92| 609 QIR ?

(a) @

(b) Ao

(c) 6<IG@

@ fig

6R% GR6R ‘26° RAAT RIFRIE ?

(a) 2RJISE

(b) 204

(c) 2

(d) AN

‘ 26 22R6Q 2l RRAIRF I’ 92l QIFYER
‘AR’ 60 608 S0 MIGE ?

(a) BN |

(b) e@éh

(c) Q.

(d) |

‘62 661l AUUCH AL 6HR CUPRII gLl
R 60% gRIa QleY ?

(a) 6@6QE Q6L

®) tede

(0 Qede

(d) eede
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66.
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3.’
answer keys are indicated as “*”

3
Note: Grace Marks will be awarded t
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